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1 XTo 1k 4S 1 -50 1k 4S = 420 10
2 | ikl v | 2NTx| -4 | 800 % 2Cx | -2 | 300 11
3 i) 53] 2S 1 -50 53] INT -3 -150 3
4 A it 5Hx 1 -200 * 4S -1 100 7
5 it [ric] 3NT = -400 * 3NT = -400
6 i) * 6H = -1430 * 6H = -1430
7 WA 1k 4H = 620 * 4Sx -2 500 3
8 MG [rii] 6S = -980 U] 6S = -980
9 | K| it 3H +2 | 200 7] 2C +3 | 150 2
10 | WA v 3NT | +2 | -660 i 3NT | +2 | -660
11 | Xk it 3NT -1 -50 53] 4H -3 -150 3
12 | mdel v§ | AINTx | -1 100 % 2C -1 50 2
13 | WH [iif} 4S = -620 * 3NT = -600 1
14 | Xk R 3NT -3 150 * ANT -3 150
15 | ik 16 INT -2 -200 * 1H +1 -110 3
16 | &1 [rit) 5Hx -1 200 53] 5Sx -2 -300 11
DATUMZE ik
REETHBA IPLITE YAt ik-2 AFy 35 | 21
IR/ AL 12 EfEf/RIIE 21 &1 35 | 21
Ji L /R HE ST 21 Wk ot/ R AR I 12 V.P. 18 | 12
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2 | Wik LL PAS It 2NT = 120 3
3 i) 53] 1S -2 -100 53] 1S -1 -50 2
4 WA 1k 4HXx = 790 i) 5D -1 100 12
5 Mt * 3NT -2 100 * 3NT = -400 11
6 i) * 6H = -1430 * 6H = -1430
7 A 1k 3NT = 600 1k 3NT = 600
8 G [rii] 6S = -980 i} 6S = -980
9 i) 16 4H -1 -50 16 2H +2 170 6
10 | WA v 3NT | +2 | -660 [i] 3NT | +1 | -630 1
11 | Xl 4H -1 -50 5|a 4S -2 | -100 2
12 | &kl db ANT | +1 | 120 % 2Sx | -1 100 1
13 | XWH [rif] 4S -1 100 [ric] 4S = -620 12
14 | X it 3Sx = 530 16 3Sx -1 -100 12
15 | ik * 1H +1 -110 * INT = -90 1
16 | &1 (53] 4S -2 -100 16 5Dx -1 -100
DATUMZE T ik
ARG H: ZRIGEH B\ Ay 57 | 13
BB/ ) 30 RSO E 1% -23 A S7 | 13
R 23 LA S VECY EES -30 V.P. 25 | 5
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1 | wE| W 4S = | 420 1t 2S = 110 7
2 | @ik ® 2S +1 | 140 LL PAS 4
3 | LK) 7 1H | +3 | -270 | & | 4Sx | -3 | -500 8
4 | W 5D -1 | 100 L] 5D -1 | 100
5 |#dtk]l W | BNT | +1 | -430 ] % | 3NT | -2 | 100 11
6 | Ll % 6H = |-1430] 4 4H | +2 | -680 13
7 |x#H) 46 | SNT | = | 600 1t 3H | +1 | 170 | 10
8 | ME] K 6S = | -980 | % 6S = | -980
9O | #%mw| 4t | AINT | +3 | 180 1t 3H = 140 1
10 [ XWH]L A 3NT | +1 | -630 | it 2Dx | -3 | -800 5
11 [ x| dte 3NT | +1 | 430 7] 4S -2 | -100 | 11
12 | ikl % 2S -2 | 100 &t | AINT | +1 | 120 1
13 | WH A 4S +1 | -650 | 74 4S +1 | -650
14 | woE | e 3sx | -1 | -100 ] ¥ | 3NT | -3 | 150 6
15 | ikl % 2H -1 50 % 2H 1 50
16 | | w 4s -1 | -50 ] 5Sx | -2 | -300 6
DATUMZE ik

[~ AR AR SR "HRF G EFE Py 52 | 31
Sy Gale/ 5Kk ¥ -3 R VEG & -19 A 52 | 31
R RATEE 19 TR/ [E 4 3 V.P. 20 | 10
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3 i) i) 2H +2 -170 (53] 2S -1 -50 3
4 A [iif} 5D = -600 * 5D = -600
5 Mt * 3NT +1 -430 * 3NT -2 100 11
6 i) * 6H = -1430 * 7H -1 100 17
7 NA 1k 4H = 620 16 3NT = 600 1
8 XNIG [rif] 6S = -980 [rit) 4S +2 -480 11
9 i) 16 4H = 420 16 2H +2 170 6
10 | WA v 3NT | +2 | -660 [i] 3NT | +2 | -660
11 | X 1k 3NT -1 -50 16 4H -1 -50
12 | ik 53] 4HXx -2 -500 * 2S = -110 9
13 | WH [rif] 4S = -620 * 3NT +1 -630
14 | X %* 3NT -2 100 [rit] 3NT -3 150 2
15 | ik [rit) 1S = -80 1k INTX = 180 6
16 | &K&Wy 1k 3D = 110 53] 4Sx -1 -100 5
DATUMZE T ik
REERE FEEH Ay 12 | 72
XIS R FE AR -41 PR HH 7R 34 25 A 12 | 72
skER /A -25 FK LS K i 41 V.P. 2 | 25
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2 | Wik LL PAS LL PAS
3 | %l w 4S -1 | -50 0] 1S | +1 | 110 4
4 | wHE| W 5D -1 | 100 il 4S -1 | 100
5 | ikl % | 3NT | -1 50 % | 3NT | -1 50
6 |l % 6H = |-1430| 4H | +2 | -680 13
7 | W) 4 4H = | 620 1t 4H = | 620
8 | WLl W 6S = | 980 | % 6S | +1 |-1010] 1
9 | %] 4t 2H | +2 | 170 1t 4H = | 420 6
10 [ WH]L A 3NT | +1 | -630 | 7§ 3NT | +1 | -630
11 | x| ik 4H -1 | -50 1t 4H -1 | -50
12 | ikl % 2S -2 | 100 % 2S -2 | 100
13 | WH A 4S +1 | -650 | 7 4S = | -620 1
14 | wrel Jt | 4sx | -2 | -300 | % 6Dx | -3 | 500 13
15 | mik | % 2H = | -110 | % 2H = | -110
16 | Ag ) b 3D +1 | 130 3] 4S -3 | -150 7
DATUMZE ik
TR JBRBA AFy 8 | 47
R/ XS KR -17 AR B AR 31 A1 8 | 47
X245 s/ Ak -31 BRI/ AT 17 V.P. 6 | 24
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4 | wf] db | BHx 200 | Jt | 3Hx | +1 | 930 15
5 | el v 4s | -1 50 % 4H = | -a20 | 10
6 | x| % 5H | +1 | -680 | % 6H = |-1430]| 13
7 | XWH| It 3NT | +1 | 630 1t 4H = 620
8 | ME| & 6S = | -980 | 6S = | -980
9 | K| it 3H +2 | 200 5|4 2H +1 | 140 2
10 [ XWH]L A 2NT | +2 | -180 i} 3NT | +2 | -660 | 10
11 | e # 4s | -1 | -50 1t 4H 1 | -50
12 | gkl ® 2H = | 1120 | % 2s | -2 | 100
13 | WA 7 4S 1| 100 | 4S 2 | 200 3
14 | wxEel & | 3Sx | -1 | -100] % | 3NT | = | -400 | 7
15 | gdtl % | 2NT | -2 | 100 | % 2H = | 1120] s
16 | %y | ® 4S = | 420 | # 4S = | 420
DATUMZE ik
N PR [~ MEE LB Ay /1 | 18
JEMSFE/S6Ce 60 U i/ JH S 4 A /71| 18
T/ DR/ YEN] -4 TR S AR -60 V.P. 25 | 3
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i | R |men| me |am | wia |een| we |am|wes | TE | ED
1 MG 2] 4S 1 -50 * 5Hx -3 500 11
2 Mt * 3C -3 150 * INT -1 50 3
3 g yii] 7] 1S = 80 7] 2S -3 -150 6
4 A [rii] 5D -1 100 1k 4H = 620 11
5 [EZBld %* 3NT +1 -430 [ric] 1S +2 -140 7
6 g ~yii] %* 5H = -650 * 6H = -1430 13
7 A 1t 3NT = 600 1k 4H = 620 1
8 | WKL 7 6s | = | -980 | % 6S | = | -980
9 i) * 2Dx -3 800 1k 2H +2 170 12
10 [ WH]L A 3NT | +2 | -660 i} 3NT | +2 | -660
11 | Xk 7] 4H -1 -50 53] 4H -1 -50
12 | ik * 2S -3 150 [rit) 2S -2 100 2
13 | WH 7R 3NT 100 i} 4S +1 -650 13
14 | XWE) W 3NT | +1 | -430 It 4Sx | -2 | -300 4
15 | ik * 2H -1 50 [ric] 2S = -110 4
16 | &1 (53] 4S -1 -50 1k 4D -2 -100 2
DATUMZE ik
T INRYE G BT ) R AR H B WA A Py 55 | 34
JLAR /AT 25 AR -7 A1 55 | 34
ESOSTEWS IRV 7 BN AL 70 -25 V.P. 20 | 10
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i | R |men| me |am | wia |een| we |am|wes | TE | ED
1 | e ® 4s | -1 | -50 1t 4s = | 420 10
2 | Wik LL PAS LL PAS
3 | %w| w5 1S = 80 [if 2D | -1 | 100 1
4 | wf) W 6D | -2 | 100 | % | 6sx | -2 | 500 9
5 | #dkl % | 3NT | = | 400 | % | 3NT | 1 50 10
6 | %m| v 6S = |-1430| % 5H | +1 | -680 13
7 |wm] 4 | 3NT | = | 600 | 4H = | 620 1
8 | ME| & 5C | -4 | 200 | % 6S = | -980 | 15
9 | %m| & | ANT | +4 | 210 | It 4H = | 420 5
10 | WA W 3NT | +2 | -660 | 74 3NT | +2 | -660
11 | x| 6 | 3NT | = | 400 | it 4H = | 420 1
12 | gkl % 2s | 2 | 100 | Jt | ANT | = 90
13 | WA| W 4S +1 | 650 | 74 4S -2 | 200 13
14 | XWE) W 3NT | +1 | -430 7 6Dx | -1 100 11
15 | gkl % 2H = | -120 | % 2H | +1 | -140 | 1
16 | =l % | 4sx | -2 | -300 | it 3D | +3 | 170 10
DATUMZE Tt TR
i ZRiGH A AFy 16 | 84
FEEF/BRBH 4 -10 IS EYSSIC 67 A1 16 | 84
HEoRAREEE 67 ARSIy 10 V.P. 1 | 25
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i | R |men| me |am | wia |een| we |am|wes | TE | ED
1 XTo it 4S -50 1k 3NT = 400 10
2 | &kl dv 2C -2 | -200 | # 2S +1 | 140
3 g ~yii] 7] 2S -1 -50 (53] 2S = 110 4
4 WA 1k 4HX = 790 * 4S = -620 16
5 | miel % 2NT = -120 % AINT | +1 | -120
6 g xyii] * 6H = -1430 i} 4S +1 -650 13
7 WA 1k 4H -1 -100 1k 4H = 620 12
8 | WE| % 6s | = | -980 | % 6S | = | -980
9 | x| dk 3H = 140 5|4 2H +3 | 200 2
10 [ XWH]L A 3NT | +1 | -630 i} 3NT | +1 | -630
11 | Xl 4S -2 | -100 5|4 7Hx | -4 | -800 | 12
12 | ik 1k INT +2 150 1k INT -200 8
13 | WH [rii] 4S = -620 ] 4S = -620
14 | Xk 7R 6Dx -2 300 * 5Dx -1 100 5
15 | Hmitl % INT = -90 i} AINT | +1 | -120 1
16 | &1 [rit) 5Hx -2 500 53] 4S -1 -50 11
DATUMZE ik
BRI IR B RMgEZ KB\ AFr 53 | 49
T /8% i -5 Bl gk -10 A1 53 | 49
Zili/ K1l 10 XI55 /5% 5 V.P. 16 | 14
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i | R |men| me |am | wia |een| we |am|wes | TE | ED
1 | Wl ™ 4S -2 | -100 3] 4S = 420 11
2 Mt (53] 2S +2 170 LL PAS 5
3 g ~yii] 53] 1S -1 -50 (53] 2S = 110 4
4 A 7R 6Dx 200 %* 5S -2 200
5 Mt 1k 2Dx -3 -800 %* 3NT = -400 9
6 i) * 4H +1 -650 * 6H = -1430 13
7 A 1t 3NT = 600 1k 3NT = 600
8 X 7R 6S = -980 [Uif] 6S = -980
9 g xyii] 1k INT +1 120 1k 2H +3 200 2
10 [ WH]L A 3NT | +1 | -630 i} 3NT | +1 | -630
11 | Wk w™ 2S +1 | 140 It 4S -2 | -100 6
12 | ik * 2S -1 50 * 2S -2 100 2
13 | WH [rii] 4S -1 100 [ric] 4S -1 100
14 | Xk [rii] 5C -3 150 * 3NT +2 -460 12
15 | gkl v INT = -90 % 2H = -110 1
16 | &1 1k 4D = 130 [rit) 4H = -620 13
DATUMZE ik
WL TY R & AFy 50 | 28
B /22 19 X s ZRME -12 A1 50 | 28
gk)TIR/ RAEE 12 X HE/ AR M -19 V.P. 20 | 10
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B | R |ean| e | @R | wiks |men| wa | e | ws| B FD
1 (%) dte 3S +1 | 170 7] 4S -1 -50 6
2 |kl & 2s = | 110 | # 2s | +1 | 140 1
3 i) * 4H -1 100 * 3H +1 -170 7
4 PIEE] it 5Hx -1 -200 * 4S -1 100 7
5 Mt * 3NT -1 50 [ric] 3NT = -400 10
6 i) * 6H = -1430 [ric] 6H = -1430
7 A %* 25X = -670 (53] 3NT = 600 15
8 MNIG [rif] 6S = -980 * 6S = -980
9 i) 16 2NT +1 150 16 4H +1 450 7
10 | X U] 6C = -1370 [ric] 3NT +1 -630 12
11 | Xk it 58S -4 -200 16 4H -1 -50 4
12 | ik [ric] INTX -2 300 * 2S -1 50 6
13 | Xf JUif] 4S -1 100 [ric] 4S = -620 12
14 | Xk R 5D -1 50 * 5D -2 100 2
15 | ik 16 INT = 90 * INT = -90 5
16 | &1 [ric] 5H = -650 53] 4S -1 -50 12
DATUMZE it ik
Hh [ i i J"HREANRER A5 46 | 60
TR/ -29 ARSCR/T- SRR -15 &3 46 | 60
REgIE/E L 15 AL /3K 7K 29 V.P. 12 | 18
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F: X VG BrfliE . BRI UG AR
B | R |ean| e | @R | wiks |men| wa | e | ws| B FD
1 | XWE) ™ 4S = | 420 | 4t | 3NT | -2 | -50 10
2 | miel 2S = | 1120 | 2C 2 | 200 7
3 | %wl # | 3Sx | -1 | -100 | 7 2H | +2 | -170 | 2
4 | wHE| W 5D = | 600 | % | 6bx | -1 | 200 13
S | Wi % 3NT | = | -400 % 3NT | = | -400
6 | L) 7 4H | +2 | -680 | % 6H = |-1430] 13
7 | s %# | 4Cx | -2 | 500 | 4t 4H = | 620 3
8 | x| W 6S +1 | -1010| % 6S = | -980 1
9 | %mw] Jt | AINT | +3 | 180 | it 2H | +3 | 200 1
10 [ XWH]L A 3NT | +1 | -630 | 7§ 3NT | +1 | -630
11 | x| ik 4H -1 | -50 1k 4H 1| -50
12 | wde | 3C 2 | 100 | & 3H 1| -100] 5
13 | WHL A 4S +1 | -650 | It 2Dx | -3 | -800 4
14 | e | 4H -2 | 100 % | 6Dx 2 | 300 5
15 | wmdbl % | ANT | -2 | 100 % 2H = | -1120| 5
16 | | & 3s -1 | -50 W | 3NT | -7 | 350 | 7
DATUMZE T ik
NEP KNG Py 53 | 23
JE F/ X0 -5 ey LEEUIEEAN -37 A1 53 | 23
IV 8757 37 W55 /A P 5 V.P. 22 8
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i | R |men| me |am | wia |een| we |am|wes | TE | ED

1 MG 2] 4S -1 -50 1k 4S -1 -50
2 [FZEl LL PAS (53] 2S = 110 3
3 i) [rit] 3D = -110 53] INT = 90 5
4 A [rii] 5D -1 100 [ric] 5D = -600 12
5 [EZBld i} 3NT +1 -430 * 3NT = -400 1
6 g xyii] %* 6H = -1430 * 4H +3 -710 12
7 A 7R 4Cx -2 500 * 2Sx = -670 15
8 | MLl % 5S +1 | -480 | 6S = | 980 ] 11
9 i) 1k 4H = 420 1k 4H +1 450 1
10 | X R 2H = -110 [ric] 3NT +3 -690 11
11 | Xk 1k 4H -2 -100 1k 4H -3 -150 2
12 | &bl dt 2D = 90 i | AINTx | -1 100
13 | WH [rii] 4S -1 100 [ric] 3NT = -600 12
14 | Wkl # 3NT | +1 | -430 % 5C -2 100 11
15 | ik * INT = -90 * INT = -90
16 | &4 %* 4H = -620 ] 6H -3 300 14
DATUMZE ik

Il 5% EWE R AFy 63 | 47
WS -10 B/ TS E, -19 A1 63 | 47
BUKRLER) 19 ¥ 4Tt/ jufe 10 V.P. 19 | 11
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R A AL [T W e I b P: Pyl e
i | R |men| me |am | wia |een| we |am|wes | TE | ED
1 | el 4s | -1 | -50 2] 3S | +1 | 170 6
2 | #mdtl % |aNTx| = | 280 | w | ANT | -2 | 100 7
3 | %l % | 3NT | -2 | 200 ® | ANT | -1 | -50 6
Z e i 50 | -1 | 100 | % | 5Dx | -1 | 200 3
5 |mdt|l % | 3NT | 1 50 % | 3NT | = | -400 | 10
6 | £l % 5H | +1 | -680 | % 6H = |-1430] 13
7 | wg | e 4H = | 620 | 4t | 3NT | = | 600 1
8 | ME] W 6S = | -980 | % 6S = | -980
9 | £l M 2Cc | +2 | 130 | It 4H | +1 | 450 8
10 | WA W 3NT | +1 | -630 | 4 3NT | +1 | -630
11 | e | e 4H | -2 | 200 ] 4t | 3NT | -1 | -50 2
12 | wdel w | 2NT | -2 | 100 | 7 2s | -1 50 2
13 | WAl % | BNT | +1 | 630 | 7 4S -1 | 100 12
14 || % | 3NT | 2 | 1200 | 4t | 4Sx | -1 | -100 | 5
15 | mik| % 2H | +1 | -140 | % 2H | -1 50 5
16 | &l Jb 3D +1 | 130 &) 4S -1 -50 5
DATUMZE T TR
BEWENY N B Ay 42 | 43
Ji & w10 VAN SV eediT 9 A1 42 | 43
Bz GELE -9 TG/ B0 -10 V.P. 15 | 15
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i | R |men| me |am | wia |een| we |am|wes | TE | ED
1 | Wk W 4s | -2 | -100 | 1t 4s | -2 | -100
2 | mitl w 2S | -1 | -100 | W 1s | +3 | 170 7
3 | £l M 1S | +1 | 12120 | # | ANT | +1 | 220 | 6
4 |xwa| w 55 | -1 | 100 | 5D = | -600 | 12
5 |mdtl % | 3NT | -1 | 50 % | 3NT | = | -400 | 10
6 | Ll W 4s | +1 | -650 | % 6H = |-1430] 13
7 |\ wHEl W 4H = | 620 | 4t | 3NT | = | 600 1
8 | Wk| % 55 | +1 | -480 | % 6S = | -980 | 11
9 | £l it 2H | +2 | 170 | 2Cc | +2 | 130 1
10 | WA W 3NT | +2 | -660 | 74 3NT | +1 | -630 1
11 | e | 4k 4H | -1 | -50 1t 4H | -1 | -50
12 | wde | 3H | -1 | -100 | Jv | ANT | +1 | 120 6
13 | WA W 4S +1 | -650 | 74 4S = | -620 1
14 || 46 | 3sx | = | 530 | % 4D = | -130 | 12
15 | mik| % 2H | +1 | -140 | 7 2S = | -110 1
16 | 5| 4s | 2 | ;100 | ® 4s = | 420 11
DATUMZE T TR
[T iEgE JINEEF B AFy 66 | 27
R li/skegie 18 Ak ) -29 A1 66 | 27
KRNI/ ARBOR 29 VREMEYEY N -18 V.P. 24 6
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i | R |men| me |am | wia |een| we |am|wes | TE | ED
1 MG 2] 4S = 420 (53] 4S -1 -50 10
2 Mt 53] 1S = 80 %* 2Cx -2 300 6
3 i} * 4H = -620 %* 3H +1 -170 10
4 A [rif] 45X -4 1100 * 4S -4 400 12
S | W] % 3NT | = | -400 % 3NT | = | -400
6 g ~yii] %* 6H +1 | -1460 * 6H = -1430
7 A 1k 3NT = 600 1k 3NTx = 750 4
8 | WKL 7 6s | = | -980 | % 6S | = | -980
9 p i) 1k 4H +1 450 1k 2H +2 170 7
10 | X [rii] 6C = -1370 [rit] 3NT +1 -630 12
11 | Xk 1k 5H -1 -50 53] 4H -1 -50
12 | ik * 2S -1 50 1k INT = 90 1
13 | WH A 4S +1 | -650 | 74 4S -1 | 100 13
14 | Xk [rii] 3NT -3 150 %* 6C -4 200 2
15 | ik * INT = -90 1k INT -2 -200 3
16 | &1 [ric] 5H -2 200 [ric] 5Hx -2 500 7
DATUMZE ik
B RF Y2 o i BA AFy 32 | 56
e v/ AR -9 FHERS G PR 20 A 32 | 56
fi e/l -20 o] [E] jg/ £ e 1 9 V.P. 9 | 21




20124F T R A M ML HRAR 5F LR FE

W25 A7 H 20124:8 H20H
23 FRIGERZHF VS 13 HYIE &R\
F=E ZilE=A
BG4 7 4 FSIEALAIN FSIEALAIN BT 55
b EA % T ke Bk e FUME
H: BRE L e P B Rk
B | R |ean| e | @R | wiks |men| wa | e | ws| B FD
1 TG 2] 4S = 420 16 4S = 420
2 | Hael % 2NT | -2 | 100 5] 2S +2 | 170 2
3 | %l 2H = | ‘1120 | & AINT | -1 -50 2
4 A [rii] 5D = -600 16 5Hx -1 -200 9
5 Mt * 3NT = -400 * 4H = -420 1
6 i) i) 6SXx -1 200 * 6H = -1430 17
7 A it 3NT = 600 16 4H = 620 1
8 TG [rii] 6S = -980 i} 6S = -980
9 i) 1k 2H +3 200 16 4H +1 450 6
10 | XA P/ 6C = -1370 [ric] 3NT +2 -660 12
11 | X 5] 6HXx -3 -500 16 5H -1 -50 10
12 | ik * 2S -1 50 [52] 2H -1 -100 4
13 | XA [rif] 4S -1 100 * 3NT = -600 12
14 | X R 5D -1 50 * 3NT -3 150 3
15 | ikl % 2H = | -110 LL PAS 3
16 | &1 (53] 2S = 110 (53] 4S -1 -50 4
DATUMZE T ik
BRIEE =R 3] B AUN y: ] 38 | 48
NS VR Im f -7 BRR S X1 3¢ -9 A 38 | 48
F/NE/ L B BR 9 T F /% 7 V.P. 13 | 17




